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9. (a) (i) If F=3xyi+ zoyzzf— 15,\:312 and ¢ =xyz, then find curl(pF).
- A N {
(i) Show that F = 2x2z? —10xyzj + 3xz2 k is solenoidal.
: S A 9 A A A
(b) Find curl(curlF )if F =x“yi —2xzj + 2yzk .
PART - D
Answer two full questions. 2x10=20
10. (a) Use the method of separation of symbols to prove that
1 1 1,2 1 A3
uo—ul+u2—u3+ ..... +00=EUO—ZAUO+EA UO—EA Ug + .o
(b) Obtain a function whose first difference is x° +3x*+5x+12.
OR
11. (a) Find the number of students from the following data who secured marks
not more than 45.
Marks 30 -40[40 -50]50 - 60]60-70]|70 - 80
Number of Students 35 48 70 40 22
(b) Find a polynomial of lowest degree which assumes the values 10, 4, 40,
424, 620 at x=—2, 1, 3, 7 and 8 respectively, using Newton’s divided
difference formula.
12. (a) By employing Newton-Gregory backward difference formula, find f(9.7)
from the following data.
x | 8(85[9]9.5]|10
fix) | 50| 57 |64] 71 75
1 1
(b) Using Simpson’s T rule, Evaluate ) dx dividing the interval
x
0
(0, 1) into 8 equal parts.
OR
13. (a) Applying Lagrange’s formula find f(5), given that f(1)=2, f(2)=4, f(3)=8
and f(7)=128.
Sth 2
(b) Using Simpson’s 5 rule, Evaluate | logex dx taking h=0.2.
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